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. 2 points: In a group of 10 children, the mean, median, mode, and range of the ages are all
equal. If nine of the ages are 3,4,4,5,5,5,5,6, and 8, what is the age of the 10" child?

. 2 points: What is the probability that a randomly chosen three-digit number will consist of
only odd or only even digits? Express your answer as a reduced fraction.

. 2 points: Gary’s final two tests of the year count for 30% of his final grade, whereas each
of his first 7 tests counted for 10% of his final grade. If Gary’s percentages on the first seven
tests were 75%, 80%, 58%, 60%, 80%, 100%, and 65%, what must his average be on the final
two tests in order to scrape by with an 80% overall grade in the class? Express your answer
as a percent.

. 3 points: In the local calculator factory, there are two quality checkpoints. At the first
checkpoint, 95% of the calculators are found to be fine, and 5% are found to have an error
and are tossed in the garbage. At the second quality checkpoint, 20% of the remaining
calculators are found to not be of high enough quality and are also tossed in the garbage, and
the rest are sent to stores to be sold. What is the probability that a calculator that is made
will be sent out to stores? Express your answer as a percent.

. 3 points: A coach has a group of 10 tennis players that applied for a team — 5 girls and 5
boys. If a team must consist of 2 boys and 2 girls, how many unique teams could the teacher
make?

. 3 points: If two positive digits are randomly chosen, with replacement, and used as the
numerator and denominator of a fraction, what is the probability that the fraction will be less
than one and in simplest form? Express your answer as a reduced fraction.

. 3 points: Two fair six-sided dice are tossed. One has the numbers 1 through 6 and the
second has the numbers 3 through 8 on its six sides. What is the probability that the number
showing on the second die will be less than or equal to the number showing on the first die?
Express your answer as a reduced fraction.

. 4 points: A dartboard is made up of three circles that share a common center. These circles
have radii of 1,3, and 5. Assuming that a dart thrown by James has an equal chance of
landing anywhere on the dartboard, what is the probability that the dart will hit within the
circle with the radius of 3 but outside the circle with the radius of 17 Express your answer
as a percent.
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4 points: On a piano, a chord is often created by playing three notes at the same time.
If there are 8 unique white keys and 5 unique black keys to choose from, how many unique
chords can be played, given that a chord is made up of 2 white keys and 1 black key?

4 points: Dr. Trytoohard has devised an evil plan to control a 4-way intersection’s traffic
lights. With one push of a button, it will randomly choose either red or green for each of the
four lights. If two adjacent lights, such as the northern and eastern lights, are both lit up as
green, an accident will happen. What is the probability that an accident will happen when
he presses the button? Express your answer as a reduced fraction.



